Assignment-1
Calculus 1 (Math-105)
First Semester (2024-2025)

Q.1 Find the natural domain of the following functions
() f(x) = m (i) fF(x) =VxZ—=T7x+10 (iii) f(x) = 6

Q.2 (i) Letf(x)=7-—x3and g(x) = x? (ii) Let f(x) = cosx and g(x) = x?

Find (fog)x and (gof)x

Q.3 Check whether the following functions are even or odd

(D) f(x) = x? — cosx (ii)f(x) = x — sinx

(ii))f(x) = x? —sinx (iv)f(x) = xsinx (v)f(x) = xcosx

Q.4 Find the inverse function from (i) f(x) = %x —130)f(x) =v2x =5

Q.5 Show that the inverse of f(x) = x* is f~1(x) = x/*

Q.6 Solve each of the following equation for x:

(DInx = -1 (i) In(1+x?) —Inx =1n2 (iii) e3* % =2
Q.7 Find

(i) lim (x* +2x—3) (i) xlirys(g‘:jf—xxj:; (i) lim ==

Q.8 Find

O fim SR fim ST i fim (1 20— 359)

Q.9 For what values of x is there a discontinuity in the graph of
Ny = x?-16 o ii __x+1
Dy (i) y

x242x-3" x2-5x—-14"

Q.10 Find the horizontal and vertical asymptotes of
D)y = x%+1 (i) y = 2x%+x-1

2x2-3x-2 x2+x-2
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